## **EXHIBIT 5**

### THE UNITED STATES DISTRICT COURT FOR THE EASTERN DISTRICT OF NEW YORK

In Re: PARKING HEATERS ANTITRUST LITIGATION	Case No. 15-MC-940 (DLI) (JO)
THIS DOCUMENT RELATES TO:	
All Direct Purchaser Class Actions	

#### DECLARATION OF JONATHAN W. CUNEO IN SUPPORT OF PLAINTIFFS' MOTION FOR AN AWARD OF ATTORNEYS' FEES AND LITIGATION EXPENSES

I, Jonathan W. Cuneo, declare as follows:

- 1. I am a partner with Cuneo Gilbert & LaDuca, LLP. I submit this declaration in support of Plaintiffs' motion for an award of attorneys' fees and expenses in connection with the services rendered, and costs and expenses incurred, on behalf of the direct purchaser class in *In re Parking Heaters Antitrust Litigation* (the "Action").
- 2. For the period starting from the inception of the Action through and including September 30, 2018, the total number of hours spent by my firm working on the Action was 81.25, with a corresponding lodestar of \$54,870.00 based on current hourly rates. In connection with representing the Plaintiffs in the Action my firm did the following: industry research in connection with the preparation of the complaint; legal research in preparation of the complaint; assist with class certification motion; and assist with the organization of the case. The lodestar amount was performed by attorneys and professional staff at my firm for the benefit of the direct purchaser class. The hourly rates for the attorneys and professional staff in my firm are the usual and customary hourly rates charged by my firm in similar matters.

3. My firm hasn't incurred any costs or expenses in connection with the prosecution of the Action from inception through and including September 30, 2018.

I declare under penalty of perjury under the laws of the United States that the foregoing is true and correct.

Executed this 19th day of October, 2018, in Washington, DC.

Jonathan W. Cuneo

## THE UNITED STATES DISTRICT COURT FOR THE EASTERN DISTRICT OF NEW YORK

In Re: PARKING HEATERS ANTITRUST LITIGATION	Case No. 15-MC-940 (DLI) (JO)
THIS DOCUMENT RELATES TO:	
All Direct Purchaser Class Actions	

# EXHIBIT A TO THE DECLARATION OF JONATHAN W. CUNEO IN SUPPORT OF PLAINTIFFS' MOTION FOR AN AWARD OF ATTORNEYS' FEES AND LITIGATION EXPENSES

#### Reported Hours and Lodestar

Through September 30, 2018

Name	Role	Year	Hours	Rate	Lodestar
Jonathan Cuneo	P	41	38.50	\$895	\$34,457.50
Joel Davidow	P	55	2.50	\$895	\$2,237.50
Jennifer Kelly	P	11	0.50	\$625	\$312.50
Taylor Asen	Α	6	21.75	\$550	\$11,962.50
Benjamin Elga	Α	5	10.00	\$450	\$4,500.00
Nadia Belkin	PL		2.25	\$175	\$393.75
Marie Schenk	${ m PL}$		5.75	\$175	\$1,006.25
Totals:			81.25		\$54,870.00

P	Partner
OC	Of Counsel
A	Associate
LC	Law Clerk
PL	Paralegal
I	Investigator
$C\Delta$	Contract Attorney